mOE AR L ERMKKICO NT

L ERHMKKC12B XK B G
=4 ﬁ;‘g;ggfm ok LR MM FILRANOREMHE M

= R it} 351,561 1,561 -91 4.44 2 1 145 43 38 1 8 75 5 174 44
XM & B H 60,493 228 -91 377 0 0 21 9 4 2 2 20 0 35 6
X M OB W H 83,703 368 -55 4.40 0 1 23 8 4 1 2 21 6 39 10
x b2 0 63,711 362 -28 5.68 0 0 29 12 8 3 0 16 0 77 2
i R Lit] 120,997 654 -131 5.41 1 2 51 25 11 2 0 33 7 103 15
i3 Eis it} 53,995 239 -21 443 0 0 21 7 19 1 0 15 0 26 1
kil 1& it} 27,180 85 7 3.13 1 0 1 1 3 1 0 1 0 4 1
il A Ll 23,991 87 -14 3.63 0 0 3 1 4 0 0 3 3 12 4
& ] it} 115,878 277 -27 2.39 0 0 19 9 5 0 0 20 1 16 8
= 2 it} 78,016 221 -1 2.83 1 0 24 11 7 2 1 13 0 37 1
2 b4 Ll 37,358 104 -32 278 0 0 1 8 3 0 0 7 0 1 1
3 Fe it} 27,359 57 -20 2.08 0 0 1 1 4 0 0 2 1 0 1
Ll =i o 1,044,242 4,243 -514 4.06 5 4 359 | 135 | 110 13 13 226 23 534 | 94
th b & 3,148 19 12 6.04 0 0 0 0 1 0 0 1 2 0 0
S B BT 18,028 61 -9 3.38 0 0 3 1 2 0 0 4 0 5 2
= Pl BT 23,179 47 -29 2.03 0 0 9 3 2 0 0 3 0 6 1
BE 5 BT 27,330 67 -37 245 0 0 2 3 3 2 0 4 0 7 0
=7 & T 7,122 16 -1 2.25 0 0 0 0 1 0 0 4 0 3 0
n [ BT 8,267 24 4 2.90 0 0 2 4 2 0 0 3 0 0 0
= £ g 6,442 22 -10 3.42 1 0 1 0 1 0 0 1 0 5 0
B R X @ 30,917 123 -23 3.98 0 0 14 11 6 0 0 6 1 11 0
g @ # 1,341 0 -4 0.00 0 0 0 0 0 0 0 0 0 0 0
il 58 # 1,445 6 -2 4.15 0 0 0 0 1 0 0 1 0 0 0
= 1] L) 6,511 8 -10 1.23 0 0 0 2 0 0 0 0 0 1 0
B B F # 5,182 14 -5 2.70 0 0 0 2 0 0 0 1 0 0 0
£ #® BT 20,949 67 -20 3.20 0 0 4 2 2 0 0 2 0 5 0
EH F BT 23,737 96 -19 404 0 0 8 3 0 2 0 4 0 15 2
I 4 BT 33,709 96 18 2.85 0 0 5 6 8 2 0 4 0 13 1
] a g 16,861 53 -15 3.14 0 0 2 2 0 0 0 3 0 11 1
= % i) 6,007 18 -17 3.00 0 0 1 0 1 0 0 1 0 0 0
X E g 16,229 83 38 5.11 0 0 8 1 5 2 0 2 1 0 0
T il BT 4,601 7 -4 1.52 0 0 1 0 0 2 0 0 0 0 0
= & # 549 2 0 3.64 0 0 0 0 0 0 0 1 0 0 0
X i # 1,129 8 1 7.09 0 0 0 0 1 0 0 0 0 0 0
F a8 I #® 340 1 0 2,94 0 0 0 0 0 0 0 0 0 0 0
+ & 0w 2,985 9 5 3.02 0 0 1 0 1 0 0 0 0 0 0
T o4 W # 721 2 -1 2.77 0 0 0 0 0 0 0 0 0 0 0
£ o W # 415 0 -1 0.00 0 0 0 0 0 0 0 0 0 0 0
n t i 1,048 6 2 5.73 1 0 0 0 0 0 0 0 0 0 0
B & F # 1,413 4 -5 2.83 0 0 2 0 1 0 0 0 0 0 0
i B & 269,605 859 -138 3.19 2 0 63 40 38 10 0 45 4 82 7
. £ 2 46 26 \ 0 0 5 0 0 0 0 0 0 0 0
& it 1,313,847 5148 | -628 3.92 7 4 427 | 175 | 148 | 23 13 | 27 27 | 616 | 101
" . o ol 2| 2= B | EXOZ | 1ETE | amms | vorqy | SEH | BEREIACESC aeen

13 9 392 | 238 | 220 25 22 377 8 760 | 175
) -3 G # kel -6 -5 35 -63 | -72 -2 -9 | -106 | 19 | -144 | -74




